o O, /dndp_ [Ub/GeV]

Ratio to ATLAS

=
o
ol

H
o
>

|_\
o
w

=
(@)
N

10

[EEY

0.5

7000 GeV pp Jets

[ | I I I | I I I I I I _I=
= Jet P, (antl-kT(O.4)) -
_m _
= .
= iﬁ" =
B ﬁ’ﬁ. m
— B _
— l“ =
— =
= SR 3
~ m ATLAS Tl _
= Pythia 6.425 default B SN o
C 3 Pythia 6.425 pro-g20 -]
:_ | | | ! | | | ! | | | ! | | | _!f
- ﬁmwﬁw i,
- 4 B ST 7]
L . 5 : 5 . —
' S O S0 T T

R R S s _

Y LY % ¥

B # |

! . !

I I I I I I I I | . I I |
0 20 40 60 80

track jet P, [GeV]

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


